KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION



WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 31691	API No. 15 - 195225020000
Name: Coral Coast Petroleum, L.C.	County: Trego
Address: 8100 E. 22nd St. N. Building 100, Suite 2	100™ - SE - NE - NW Sec. 25 Twp. 15 S. R. 23 ☐ East ▼ West
City/State/Zip: Wichita/Kansas/67226	890 feet from S / (N) (circle one) Line of Section
Purchaser: High Sierra	2310 feet from E / (circle one) Line of Section
Operator Contact Person: Daniel M. Reynolds	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 269-1233	(circle one) NE SE (NW) SW
Contractor: Name: Murfin Drilling Company, Inc.	Lease Name: Joan Well #: 1
License: 30606	Field Name: wildcat
Wellsite Geologist: Jeff Christian	Producing Formation: Fort Scott
Designate Type of Completion:	Elevation: Ground: 2360 Kelly Bushing: 2365
New Well Re-Entry Workover	Total Depth: 4375 Plug Back Total Depth: 4370
✓ Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 206 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set 1736 Feet
	If Alternate II completion, cement circulated from 1736
If Workover/Re-entry: Old Well Info as follows:	feet depth to_surface
Operator:	
Well Name:	Drilling Fluid Management Plan AH, II SB
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit) 3-28-08
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 5100 ppm Fluid volume 1000 bbls
Plug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Operator Name:
Other (SWD or Enhr.?) Docket No	Lease Name: License No.:
November 5, 2007 November 12, 2007 January 17, 2008	
Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter Sec Twp S. R
necompletion bate	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-12 sand geologist well report shall be attached with this form. ALL CEMENTING S. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature: David M. Keynolds	KCC Office Use ONLY
Title: Managing Member Date: January 25, 2008	Letter of Confidentiality Received
Subscribed and sworn to before me this 25th day of Uanuary	If Denied, Yes Date:
	Wireline Log Received
20 08.	Geologist Report Received RECEIVED
Notary Public: Jaret Sukerthorre	UIC Distribution MAR 1 U 2008
Date Commission Expires: 4-18-2010	
A JANET SILVERTHORNE	KCC WICHITA

JANET SILVERTHORNE
Notary Public - State of Kansas
My Appt. Expires 4-18-201-9

Side Two

tested, time tool open a temperature, fluid recovered Electric Wireline Logs se Drill Stem Tests Taken (Attach Additional Sh Samples Sent to Geolo Cores Taken Electric Log Run (Submit Copy)	w important tops a and closed, flowin very, and flow rate surveyed. Attach to meets)	and base of formation g and shut-in pressure ss if gas to surface tes	County s penetrated. es, whether si t, along with t	hut-in pr	all cores. Reportessure reached	static level, hydr	ostatic pressui	res, bottom hole		
Samples Sent to Geolo Cores Taken Electric Log Run	and closed, flowing very, and flow rate surveyed. Attach for the surveyed and the surveyed	g and shut-in pressures if gas to surface tes final geological well si	es, whether si	hut-in pr final cha	essure reached rt(s). Attach ex	static level, hydr	ostatic pressui	res, bottom hole		
(Attach Additional Sh Samples Sent to Geolo Cores Taken Electric Log Run (Submit Copy)	•			711						
Cores Taken Electric Log Run (Submit Copy)	ogical Survey	☑ Yes ☐ No		-	_og Format	ion (Top), Depth	and Datum	Sample		
Electric Log Run (Submit Copy)				Nan	ne ⁄drite		Top 1731	Datum +634		
(Submit Copy)		☐ Yes 📝 No		Heel			3723	-1358		
		✓ Yes _ No		Lans	sing		3761	-1396		
list All E. Logs Hun:				Cher	rokee Shale		4242	-1877		
/		Miss	sissippi		4329	-1964				
Dual Induction, Microlog, Sonic	•	ed Neutron De	nsity,							
		CASII Report all strings s	NG RECORD	N 🔽	_	tion etc				
Purpose of String	Size Hole Size Casing Drilled Set (In O.D.)		Size Hole Size Casing		Wei Lbs.	ight	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12 1/4"	8 5/8"	23#		206	common	160	2% gel, 3% cc		
Production	7 7/8"	5 1/2"	15.5		4375	aa2	125	10%salt 5% gils		
					ļ.,					
	T	ADDITION	AL CEMENTII	NG / SQI	JEEZE RECORI)				
Purpose: Perforate Protect Casing	Depth Top Bottom	Type of Cement	#Sacks	Used	d Type and Percent Additives					
Plug Back TD Plug Off Zone										
Shots Per Foot		ON RECORD - Bridge F				cture, Shot, Cemer				
		Footage of Each Interval	Perforated	(Amount and Kind of Material Used)			Depth			
	315-23				acidized with 350 gallons of MCA			4315-23		
42	229-34				500 gallons	7% NEFE		4229-34		
		-,,								
TUBING RECORD 2 3/8"	Size	Set At 4230	Packer A 4270	At .	Liner Run	Yes ✓ No)			
Date of First, Resumerd Pi 1/25/2008	Production, SWD or E	inhr. Producing N	lethod [Flowing	g 📝 Pumpi	ng 🔲 Gas Li	ft Othe	er (Explain)		
Estimated Production Per 24 Hours	Oil 10	Bbls. Gas	Mcf	Wate	er E	bis. (Gas-Oil Ratio	Gravity 38 degrees		
Disposition of Gas	METHOD OF C	COMPLETION			Production Inte	val '		KECFIVE		
Vented Sold	Used on Lease	Open Ho		[Dually Comp.	Commingled	4229-34 Fo	rt ScoMAR 1 u 2		

#1 Joan drill stem tests

DST #1 (Fort Scott) 4204 to 4257, 45-45-60-60, Recovered 1400' gas in pipe, 335' of gassy oil, FP 48-105;109-150 SIP 1287-1223

DST #2 4240-4312 (Cherokee) 30-30-30, weak blow, Recovered 5' mud, FP 26-29; 30-32 SIP 30-42

DST #3 4240 -4323 (Cherokee Sand) 45-45-60-60 fair blow, Recovered 375' muddy oil (70% oil), FP 63-149; 149-208 SIP 1243-1250

RECEIVED MAR 1 0 2008 KCC WICHITA



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill fres

Coral Coast Petroleum LC 8100 E. 22nd Street North Bldg. 100 Suite 2 Wichita, KS 67226 Well# 1-JOAN-R Acc+# 71730

INVOICE

Invoice Number: 111042

Invoice Date: Nov 7, 2007

Page:

1

(া) দল্লোভাষ্ট	: Wall Name# or Gustomer RO	Pavmen	alerms .
CoralC	Joan #1	Net 30	Days
Sales ReplD	Campillogation -	ServiceDate	Due Date
	Great Bend	Nov 7, 2007	12/7/07

		i Deseribilion	v Uniterateo :	/Amount
ए एडावीहरू 160.00	Item:53	Common Class A	11.10	1,776.00
3.00	Į.	Gel	16.65	49.95
5.00		Chloride	46.60	233.00
	SER	Handling	1.90	319.20
38.00		Mileage 168 sk @.09 per sk per mi	15.12	574.56
		Surface	815.00	815.00
1.00	<u> </u>	Mileage Pump Truck	6.00	228.00
38.00	SER	Head Rental`	100.00	100.00
1.00 1.00	EQP	Wooden Plug	60.00	60.00
Ng re			RECEIVED MAR 1 U 2009 KCC WICH!	TA
	DE NET DAVABI	Subtotal		4,155.7

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE



Subtotal	4,155.71
Sales Tax	122.90
Total Invoice Amount	4,278.61
Payment/Credit Applied	
Payment of edit Applied	4 278 61
FIGURAL	

<415.57 >

3863.04



Liberal

CORAL COAST PETROLEUM, LC

8100 EAST 22ND STREET NORTH

BLDG. 100-2

WICHITA

KS

67226

ATTN:

Wall# 1- JOAN-R Acct # 73550

CUST NO

1975-COR018

INVOICE DATE

11/15/2007

INVOICE NUMBER

1975000534

LEASE NAME

PAGE

1 of 2

Joan

WELL NO.

COUNTY

Trego

STATE

Ks

JOB DESCRIPTION Cement-New Well Casing/Pipe:

JOB CONTACT

JOB # EQUIPMENT # 301		PURCHASE	ORDER NO.	Net 30 DAYS	DUE DATE 12/15/2007	
	<u> </u>		QTY	U of M	UNIT PRICE	INVOICE AMOUNT
or Service D	ates: 11/13/2007	to 11/13/2007				
975-00539						
1975-20063	Cement-New Well	Casing 11/13/07				
Pump Charge-		Casing Tirioror	1.00	Hour	1764.000	1,764.00
	ment Pump		1.55			,
Cementing He			1.00	EA	250.000	250.00
Cement He						
Cement Float i			1.00	EA	320.000	320.00
	oat Shoe, 5 1/2"	- Genied			200 500	507.00
Cement Float I	4 ION	RECEIVE	2.00	ĒΑ	268.500	537.00
Basket, 5	7/2"	RECEIVED 2008	20.00	EA	50.000	1,000.00
Cement Float B	zquipment ratchers	MAN	20.00	EA	50.000	1,000.00
Cement Float I	Fauinment	KCC WICHITA	1.00	EA	726.000	726.00
	n Plug & Baffle, 5	KCC	1.00			
. 1/2"	· · · · · · · · · · · · · · · · · · ·	9 * '			· (
Cement Float B	Equipment		2.00	EA	29.160	58.32
Stop Collar				!		÷
Cement Float B			8.00	EA	74.200	593.60
Turbolizer,		,	4.00			4 500 00
Cement Float E			1.00	EA	4583.000	4,583.00
1 wo Stage 1/2"	Cement Collar, 5]	
Extra Equipme	nt		1.00	EA	150.000	150.00
Casing Swi			1.00	L7 .	150.000	100.00
Mileage	, ,	•	350.00	DH	1.500	525.00
	rvice Charge					
Mileage			200.00	DH	5.000	1,000.00
Heavy Vehi	cle Mileage					
Mileage			1,650.00	DH .	1.600	2,640.00
	nd Bulk Delivery		100.00		0.000	200.00
Pickup	or Van Milaaga		100.00	Hour	3.000	300.00
Standby Time	or Van Mileage		a nn	Hour	210.000	1,890.00
	rs on location		9.00	, ioui	210.000	1,000.00
Additives			53.00	EA.	3.700	196.10
Cellflake	•			•		
Additives	•		36.00	EA	6.000	216.00
Cament Frid	ction Reducer					



Liberal

CORAL COAST PETROLEUM, LC

8100 EAST 22ND STREET NORTH

BLDG. 100-2

WICHITA

KS

67226

ATTN:

PAGE 2 of 2

CUST NO

1975-COR018

INVOICE DATE

11/15/2007

INVOICE NUMBER

1975000534

LEASE NAME

Joan

WELL NO.

COUNTY

Trego

STATE

Ks

JOB DESCRIPTION Cement-New Well Casing/Pipe:

JOB CONTACT

JOB#	EQUIPMENT #	PURCHASE (ORDER NO.		TERMS	DUE DATE
1975-00539	301			Net 30 DAYS	12/15/2007	
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
Additives <i>Defoamer</i>			24.00	EA	3.450	82.80 T
Additives			95.00	EA	8.250	783.75 T
<i>FLA-322</i> Additives			626.00	EA	0.670	419.42 T
Gilsonite Additives			500.00	EA	0.860	430.00 T
Mud Flush Additives			654.00	EA	0.250	163.50 T
Salt (fine) Calcium Chlorid Cement	de		424.00 125.00	EA EA	1.000 18.170	424.00 T 2,271.25 T
AA2 Cement			005.00	EA	18.600	4,185.00 T
A-Con Blen Supervisor Service Sup	oon/isor	SECEIVED ONB	1.00	Hour	150.000	150.00
Gervice Gu	·	RECEIVED 2008 MARY 10 2008	P			
						·
						4.405.00

PLEASE REMIT TO: BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

SEND OTHER CORRESPONDENCE TO: BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

BID DISCOUNT SUBTOTAL TAX

INVOICE TOTAL

-4,105.39 21,553.35 446.84 22,000.19

BASIC

Nerov Services (p

FIELD ORDER

20063

ene	y	SEIVE	C & S, L.P.	Lease —	,	Well #		Legal 25-	15022
Date //-/3	-07	Customer ID	+ "	County Trees	A	State	45	Station	ecal
c Cora	1 1	. Disole	eum L.C	Depth	Formation			Shoe Joint	
A				Casing	Casing Depth	TD		lob Type	Lamstrin
R			·	Customer Represe	ntative		Treater and	· · · · · · · · · · · · · · · · · · ·	rold IR
· .				THEY IS	WEAR				Cokres of Wi
AFE Number		PO Number		Materials Received by	land-1	Part Con	4		*
Station Code	Product Code	QUANTITY		MATERIALS, EQUIP	MENT, and SERVIC	ES USED	- Contraction of the second	UNIT PRICE	AMOUNT
	2105	125.5k	AA-2	ing Sport of the second	والمسترياح المستروجية المعام المواجعة المراجعة			- Sec. of Consequences and Consequences	2271.25
L	2101	225 Sk	A Con BI	lend .					4185.00
C-	C310	424 15	Coleian	Chloride					42400
L	C194	5316	Cellfako						196.10
4	0.195	95 lb	FLA-32						783.75
. L.	0221	654 15	Salt						163.50
(C243	24 16	Defoam	22					83.80
L	C244	36 15		Eriction F	Redicer		•		216.00
l.	C 321	126 16	Gilsanit	* ii	**************************************				419.42
Car.									
L.	FIOI .	8 64	Turboliz	2N				·	593.60
l.	E121	2 EA	Basket		,;				537.00
<u>L</u>	F181	1 EA		n Plus +	Baffe				726.60
·	F211	IEA	Auto Fil	1 Floor She	rC.				320.00
	F251	1 EH	Two Sta		Collar	÷			45830)
j)	F292	2015.4	Connot:	Scratcher	s Rotat	na Ten	0-6		1000.00
L	R701			Sprice 1 4	6				150.00
. (C302	500601	Mud G	lush					430.00
· Lee	F131	2 EA	Stop Col	ller 5 1/2	<i>,</i>		RECEIV	EU	58.32
la:	E100	200 MI	Heave	Vehicle	nileoge		MAR 1	5008	1000.00
<u> </u>	E107	350Sk	Count 5	sendice C	7	<u> </u>			525.W
<u>.</u>	EIOY	1650Tm	Bulk d	elivery			KCC M	CHITA	2640.00
	RING	1 Eb	Count	Painson	;				176400
	EIOI	COMI	Fichup	M. Years	21	·		·	300.00
	E891	IEA.	Smrica	Seven	1.500		٠.		150.00
	R'OI	IEA	Conf A	Keel Rox	stal				250.00
<u></u>	RYOZ	911R	Additi	onal H	re on	Coc.			1890.00
	R402	9 HR	Adolytin	ral Arry	on loc		la Cha	ns.	the contract of the contract o
•			LISCO	suntell	Istal f	This le	3 X		21553.

As consideration, the Customer agrees:

- a) To pay BASIC ENERGY SERVICES, L.P. in accordance with the rates and terms stated in BASIC ENERGY SERVICES, L.P.'s current price list. Invoices are payable NET 30 after date of invoice. Upon Customer's default payment of Customer's account by the last day of the month following the month in which the invoice is dated, Customer agrees to pay interest thereon after default at the highest lawful contract rate applicable but never to exceed 18% per annum. In the event it becomes necessary to employ attorneys to enforce collection of said account, Customer agrees to pay all collection cost and attorney fees in the amount of the unpaid account.
- b) To defend indemnify, release and hold harmless BASIC ENERGY SERVICES, L.P., its divisions, subsidiaries, parent and affiliated companies and the officers, directors, employees, agents and servants of all of them from and against any claims, liability, expenses, attorney's fees and costs of defense to the extent permitted by law for:
 - Damage to property owned by, in the possession of, or leased by Customer, and/or the well owner (if different from Customer), including but not limited to, surface and subsurface damage. The term "well owner" shall include working and royalty interest owners.
 - 2. Reservoir, formation, or well loss or damage, subsurface trespass or any action in the nature thereof.
 - 3. Personal injury of death or property damage (including, but not limited to, damage to the reservoir, formation or well), or any damages whatsoever, growing out of or in any way connected with or resulting from pollution, subsurface pressure, losing control of the well and/or a well blowout or the use of radioactive material. The amount of this invoice is due and payable at BASIC ENERGY SERVICES, L.P., Dept. No. 1131, Tulsa, Oklahoma 74182. All terms of the Service order with customer are incorporated herein and made a part hereof by reference.

The defense, indemnity, release and hold harmless obligations of Customer provided for in this Section b) and Section c) below shall apply to claims or liability even if caused or contributed to by BASIC ENERGY SERVICES, L.P. negligence, strict liability, or operated, or furnished by BASIC ENERGY SERVICES, L.P. or any defect in the data, products, supplies, materials, or equipment of BASIC ENERGY SERVICES, L.P. whether the preparation, design, manufacture, distribution, or marketing thereof, or from a failure to warn any person of such defect. Such defense, indemnity, release and hold harmless obligations of Customer shall not apply where the claims or liability are caused by the gross negligence or willful misconduct of BASIC ENERGY SERVICES, L.P. The term "BASIC ENERGY SERVICES, L.P." as used in said Section b) and c) shall mean BASIC ENERGY SERVICES, L.P., its divisions, subsidiaries, parent and affiliated companies, and the officers, directors, employees, agents and servants of all of them.

- c) That because of the uncertainty of variable well conditions and the necessity of relying on facts and supporting services furnished by others, BASIC ENERGY SERVICES, L.P. is unable to guarantee the effectiveness of the products, supplies, or materials, nor the results of any treatment or service, nor the accuracy of any chart interpretation, research analysis, job recommendation or other data furnished by BASIC ENERGY SERVICES, L.P. BASIC ENERGY SERVICES, L.P. personnel will use their best efforts in gathering such information and their best judgement in interpreting it, but Customer agrees that BASIC ENERGY SERVICES, L.P. shall not be liable for and Customer shall indemnify BASIC ENERGY SERVICES, L.P. against any damages from the use of such information.
- d) That BASIC ENERGY SERVICES, L.P. warrants only title to the products, supplies, and materials and that the same are free from defects in workmanship and materials. THERE ARE NO WARRANTIES, EXPRESS OR IMPLIED OF MERCHANTABILITY, FITNESS OR OTHERWISE WHICH EXTEND BEYOND THOSE STATED IN THE IMMEDIATELY PRECEDING SENTENCE. BASIC ENERGY SERVICES, L.P.'s liability and Customer's exclusive remedy in and cause of action (whether in contract, tort, breach of warranty or otherwise) arising out of the sale or use of any products, supplies or materials in expressly limited to the replacement of such products, supplies or materials on their return to BASIC ENERGY SERVICES, L.P. or, at BASIC ENERGY SERVICES, L.P.'s option, to the allowance to the Customer of credit for the cost of such items. In no event shall BASIC ENERGY SERVICES, L.P. be liable for special, incidental, indirect, punitive or consequential damages.
- e) To waive the provisions of the Deceptive Trade Practices Consumer Protection Act, to the extent permitted by law. We certify that the Fair Labor Standards Act of 1938, as amended, has been complied with in the production of goods and/or with respect to service furnished under this contract.
- f) That this contract shall be governed by the law of the state where services are performed or materials are furnished.
- g) That BASIC ENERGY SERVICES, L.P. shall not be bound by any changes or modifications in this contract, except where such change or modification is made in writing by a duly authorized manager of BASIC ENERGY SERVICES, L.P.



RECEIVED MAR 1 0 2008

TREATMENT REPORT

	55 50		O 0, 2.1	•	than an			2		• • • • • • • • • • • • • • • • • • • •			
Customer	1 Coas	1. Pekse	oleun	Lease No). ° «. ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° °	- 3	WC.	CWIC	PIA	Angle Legan constant		T. Comments of the comment of the co	
Lease	Joan.	<u>د</u> _		Well #	. /			1 3		11-13	6-07		
Field Order #	Station	· benow	1			Casing	L Depth	¥384	County	Trean		State MS	
Type Job	1 2 stace	u	string			CHW	Formation			Legal De	escription 25 - 14	5-23	
PIPI	E DATA	PERF	ORATIN	IG DATA		FLUID USED			TREATMENT RESUME				
Casing Size	Tubing Size	e Shots/F	t		Acid	5 < 12 A B	7-2.0.39	FR 2	RATE PF	RESS	ISIP	2,1002 Salt	
Depth	Depth	From	Т	·	Pre I	Pad	CFLIV	Max			5 Min.	2 10 00 1 2 11 22 01 0 0	
Volume	Volume	From ←		0 1 3 1 5	Pad	QCL	1456	Min	05.H		10 Min.	and the same of th	
Max Press	Max Press	From	Т	o &	Frac	SSK K	1Com - 20	Avg	Vy F CAL	flako:	15 Min.		
Well Connection	Annulus Vo	ol. From	Te	o (3 110	S.PRG.	-2.914	HHP Used			Annulus Pi	ressure	
Plug Depth	Packer De	pth From	T	0	Flusi	h Sofee	Imad	Gas Volum	е	U	Total Load		
Customer Rep	presentative			Statio	n Mana	ger	y Bern	eH	Treater	Birch	HAROL	%C	
Service Units	19811	19631	1992	U 198	357	1 m	() Co						
Driver Names	Klerger.	Janes	Ing C			4		at 1					
Time	Casing Pressure	Tubing Pressure	Bbls. P	umped	F	Rate			Se	rvice Log			
1200	11-1	2.07			<u> </u>	5	Onto	cetion	n = 5	707 f	Rial		
1000	11-1	3-07		42	and the same of th	S. S	COSANS	ion bo	Mon	- Bre	ik Cir		
1144	·	200	10)]	<u> </u>		Pumo	10 661	CC-	Work			
1151	1	700		2)	Puno	500	Gall	Muds	lush		
MSP	· .	200	5)	and the		Punga	5661	Madre				
1156		200	3	2		\$	Mill	1255k	AA-E	(O) 15	3 PPL	e Militaria, de la composition de la co	
1202			**		S. denember, 1		Shirt	DOM	-dogs) Olera	- Cla	anLines	
1209		100)	- 5		Dism	lace .	lasith.	to inde			
1224		100	// (S)	3:54		1	Die		The f	M mus		to the second second	
1242		700	9	4	2 T 6	2	Slow	Rose					
1247		00-140	<u>) 10</u>	14		·	Bearing	O Pha	200	*	• .		
12.49		400-C)				Religie	e R	SSUM	, -1100	tlett -	· Dryo Con	
1902		750		- ×	¥1 .		Open	150/	- f	Social	6,00		
1557		100	5)		·	Pamo	5631	1 was	lenc .			
1559		170	10	9.	6		Mixe	700021	10.5k	A Com	<u> (b), //.</u>	5 PPG	
MS GRAL						· · · · · · · · · · · · · · · · · · ·	Shut 1	Down	-dro	O jOhne	a-cle	an Lines	
1619		100			F.,	H	1) 500	TO EN	oth o	12 35	7	 	
1675		300	3	2	2)	Slow	Rate			together to The second together		
1630	V .	300/	5004	7 1			Burg	Hus			4 - 7	5 +	
1632	150	<u>20-0</u>	-	·	****		Kelens	2 H	155V1	-e-F/0	ot sk	16%	
50)	· .			· Marie			Ciccia	lato G	u Znástý	与杨	o pit	»	
				Carlos Carlos			50	Solo Co	marNo	40			